1. Vypočítaj príklady
10 + 5 =


9 – 8 =

10 + 9 = 

5 + 10 =

10 – 5 =


7 + 3 =

8 + 10 =


10 – 6 =

10 + 0 =


6 – 6 =

1 + 10 =


10 – 9 =

50 +10 =              1 + 9 =

10 + 0 =


3 + 10 =

2. Usporiadaj čísla od najväčšieho po najmenšie
[image: image1.png]



10, 20, 30, 40 ______________________

10, 20, 50, 60 _____________________

10, 30, 70, 80 _____________________

3.Vymaľuj správny výsledok
40 - 10 = 
30
 10

 60 + 10 = 
 70    10
30 - 10 =  
10    20

 10 –  10 = 
  0      20
40 - 20 =       20    10

 80 +  20 =
 10
  100
30 - 10 =       10
  20

 60  -  20 =
 40
    10
4. Vypočítaj príklady
  20 + 10=


10 + 20
= 


20 + 40 = 
  30 + 20=


20 + 30 = 


 20 + 10 = 
